324 | WICTA-59

THE INSTITUTE OF BANKERS, BANGLADESH (IBB)
98th Banking Professional Examination, 2024
AIBB ,
Investment Banking (IB)

SubjectCode: | 2 | 1| 3

Time—3 hours
Full marks—100

‘Pass marks—45

[N.B. The figures in the right margin indicate full marks. Answer any five of the
following questions. | 7

Marks
1. (a) Distinguish between historical returns and expected returns? S
(6) How do you understand an investment risk and what statistic 5.
tools can be used to measure it?
(c) Refer to the following information on joint stock returns for 10
stock 1, 2 and 3 in the table: '
Retum for stock -
Probability Stock-1 Stock-2 Stock-3
0.20 0.20 0.25 0.10
030 —0.05 0.10 0.05
0.25 0.10 0.05 0.00
0.25 0.00 -0.10 - 0.05

If you must choose only two stocks to your investment portfolio,
what would be your choice? Present your arguments to explain your
decision:

(i) Stocks 1 and 2 (ii) Stocks 1 and3  (Gii) Stocks 2 and 3
(iv) Any other. _
2. (a) What are the difference between Investment Banking and T
' Commercial Banking?

() What are the different steps in structuring a deal in Investment 6
Banking? |

(c) What is the main role of Investment Corporation of Bangladesh 7
(ICB) for stabilizing price of shares of secondary market?

3. (a) Whatis WACC? How do you calculate it? 6

(b) Company XYZ has a cost of equity 12%, a cost of debt 5% and 10
a tax rate 25%. The company equity valued at Tk. 10 million,
and its debt is valued at Tk. S million. What is the WACC for
Company XYZ? Please show all your calculation.

(c) Why do you multiply by (1-tax rate) in calculation of WACC? 4
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Write short notes on any five of the following:

@
(®)

What is the purpose of Financial Statement?"

How does common sizing of financial statements facilitate
meaningful financial analysis?

Why is financial statement modeling important?
Discuss Income statement modeling:.Revenue.

Define the Net Present Value (NPV) and Internal Rate of Return
(IRR). | |

Explain the variance of Return in a Portfolio?
What is the importance of Industry Analysis?
How to do Industry Analysis?

Define Hurdle Rate with an example. How is it calculated?
Explain ‘Terminal Value® with practical examples.

Discuss the Fama-French Three Factor Model. What are the
limitations of this model?

What macroeconomics factors do you consider in making
investment decision? _

What do you know about a Red-Herring Prospectus?

What is a zero-cupon Bond? Describe its features.

Differentiate between Growth Instruments and Equity Instruments.
Discuss the steps of cash flow modeling.
Discuss the growth of capital market in Bangladesh.

What are the key elements of portfolio management?
What is a company analysis? How do you do it?
How are business risks and financial risks related?

Project Finance
Sustainable Bond
Conflicts of Interest

- Corporate Advisory Services

Asset allocation
Merchant Banking
Options and Futures

Enterprise Value
Brokerage House
Beta factor.
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